
4  5/8” Screw
4  #4-40 Nut

INVENTORY

1  LED Matrix
2  Foam Tape
1 Kickstand

1  Front Panel
1  Back Panel
1  Jumper Wires

Mission:
Piper Make Light Show

Assembly
SIDE A

Pi
pe

r M
ak

e 
Li

gh
t S

ho
w

  V
er

si
on

 1
.1

.1

1

Stick the Foam 
Tape strips onto 
the back of the 

LED Matrix

V
C
C

C
L
K

C
E
M
O
S
I

G
N
D

!
DO NOT cover chips 

(shown in black)

2

Attach Kickstand with a 
Screw and Nut as shown

3

GND
MOSI

CE
CLK

VCC

Jumper wire 
colors may vary. 

!
For wiring 

diagrams, visit 
MAKE.PLAYPIPER.COM.

Using the Screws and Nuts to 
secure the LED Matrix between 

the Front and Back panels

ASSEMBLY COMPLETE!

Head to Piper Make
to continue your mission make.playpiper.com



4  5/8” Screw
4  #4-40 Nut

INVENTORY

1  LED Matrix
2  Foam Tape
1 Kickstand

1  Front Panel
1  Back Panel
1  Jumper Wires

Mission:
Piper Make Light Show

Disassembly
SIDE B

Pi
pe

r M
ak

e 
Li

gh
t S

ho
w

  V
er

si
on

 1
.1

.1

1

Remove 
Jumper 

Wire

Place each item on its spot 
on the Component Sheet

2
Remove
Screws

from Front
Panel

3

Detach Kickstand
DISASSEMBLY COMPLETE!

If not already
done, place each

piece on its spot in
the Component Sheet




